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Part A 

Answer ALL questions 

 

Question No. 01 

Select the most appropriate answer for the questions from I to X. 

 

Suppose that a business purchases a building for Rs. 1,000,000. They also had to incur Rs. 

20,000 as legal cost in purchasing the building. It then adds an extension to the building at a 

cost of Rs.150, 000. The building needs to have a few broken windows mended, its floors 

polished and some missing roof tiles replaced. These maintenance jobs cost Rs. 50,000. 

Monthly repair cost amounts to Rs.10, 000. 

 

I. Which one of the following is revenue expenditure according to the information given 

above? 

a. Purchase cost of the building Rs. 1,000,000 

b. Maintenance cost of Rs.50,000 

c. Legal expenses of Rs. 20,000 

d. Cost of extension to the building Rs.150,000 

 

II. What is the total cost of capital expenditure? 

a. Rs. 60,000 

b. Rs. 170,000 

c. Rs. 1,170,000 

d. Rs. 1,150,000 

 

Directors of J Co. is evaluating a purchasing a machine that requires an initial cash outlay of 

Rs. 900,000. The project duration is 5 years and the net cash inflows are as follows. 

 

Year        1  2  3  4  5 

Net operating cash flow (Rs.000)       200   300 300  400 200    

Scrap value (Rs. 000)         100 

 

Use the above information to answer question III and IV  
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III. What is the payback period of the machine of J Co.? 

a. 3 .25 years 

b. 2.2 years 

c. 3 years 

d. 2.08 years 

 

IV. What is the ROCE of the machine? 

a. 88% 

b. 20% 

c. 24% 

d. 26% 

 

V. Which of the following accurately defines the internal rate of return (IRR)? 

a. The average annual profit from an investment expressed as a percentage of the 

investment sum 

b. The net present value of the cash flows from an investment discounted at the 

required rate of return 

c. The rate (%) at which discounted net profits from an investment are zero 

d. The discount rate (%) at which the net present value of the cash flows from an 

investment is zero 

 

VI. Which of the following tasks would usually be carried out first in the budgetary 

planning process? 

a. Identify the principle budget factor  

b. Establish the organization’s long term objectives. 

c. Establish the level of sales demand 

d. Calculate the predetermined overhead absorption rate 

 

VII. PQ Co plans to sell 24,000 units of product R next year. Opening inventory of R is 

expected to be 2,000 units and PQ Co plans to increase inventory by 25% by the end of 

the year. How many units of product R should be produced next year? 

a. 23,500 units 

b. 24,000 units 

c. 24,500 units 

d. 30,000 unit 
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VIII. What is a standard hour? 

a. An operating hour in which there are no exceptional events, eg: machine breakdown 

b. An hour during which only standard units are made 

c. An hour during which only standard hourly rates are paid to labour 

d. The amount of work achievable in an hour, working at standard efficiency levels 

 

IX. The standard cost information for Silk Co’s single product shows the standard direct 

material content to be 3Kg at Rs. 10 per Kg. 

 

Actual results for the December month were: 

Production   1600 Units 

Material used  5000 Kg at the cost of Rs.55, 000 

 

All of the materials were purchased and used during the period. The direct material price 

and usage variance for the month of December are: 

   Material price    Material usage 

a. Rs.5,000 (A)   Rs. 2000 (A) 

b. Rs.5,000 (F)   Rs. 2000 (A) 

c. Rs. 2000 (A)   Rs.5,000 (F)  

d. Rs. 2000 (F)   Rs.5,000 (A)  

 

X. Extracts from Lace company’s records for January are as follows. 

 

       Budget   Actual 

   Production   8900 units  8600 units 

   Direct labour cost  Rs. 106,800  Rs.129,000 

       

   What is the direct labour total cost variance? 

a. 22,200 (A) 

b. 25800 (A) 

c. 900 (A) 

d. 25800 (F) 
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PART B 

Answer ALL questions 

 

Question No. 02 (Compulsory) 

 

a. What is capital budgeting? Explain with an example. 

(02 Marks) 

 

b. Explain five factors that should be included in a good capital budgeting process? 

          (10 Marks) 

 

c. Wooden Wire Company is considering investing in new machinery for its production plant. 

Following information is available for two equipment.  

 

       Equipment - 1  Equipment - 2 

Initial investment    Rs. 950,000   Rs. 850,000 

Useful life    5 years    4 years 

Profit before depreciation 

Year 1     Rs. 150,000   Rs. 200,000 

Year 2     Rs. 200,000   Rs. 250,000 

Year 3     Rs. 240,000   Rs. 300,000 

Year 4     Rs. 290,000   Rs. 450,000 

Year 5     Rs. 350,000   - 

Scrap value    Rs. 150,000   Rs. 150,000 

 

Company calculate depreciation on reducing balance basis at the rate of 20% per year.  

 

Required: 

i.  Assuming only one equipment can be purchased suggest which equipment is most 

profitable in invest in based on 

-  Payback period method      

(02 Marks) 

-  ROCE method      

(06 Marks) 

(Total 20 Marks) 
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PART C 

Answer Only Three (03) questions 

 

Question No. 03 

 

Giant Build Limited is considering whether to invest in new equipment costing Rs 600,000. 

The equipment is expected to have an economic life of five years and disposal value at the end 

of year 5 will be Rs. 250,000 Giant Build Limited’s after-tax cost of capital is 15%.  

 

In addition, Rs.40, 000 of working capital will be required to start of the project, increasing to 

Rs.50, 000 at the beginning of the second year. All the working capital will be recovered at the 

end of year 5. 

 

The following forecasts relate to the project under consideration: 

 Rs. ‘000’ 

Year 1 2 3 4 5 

Sales revenue 250 250 300 350 400 

Direct materials 

cost 
50 55 58 64 70 

Direct labour cost 25 25 30 30 35 

Total direct costs 75 75 88 94 105 

 

Corporation tax is charged on profits at 35%. Tax is payable in the year following the year in 

which the profits occur. There will be a 20% annual writing-down allowance on capital 

expenditure, for tax purposes. The tax-allowable depreciation is calculated by the reducing 

balance method. 

 

Required: 

Calculate the Net Present Value of the project and recommend whether or not the project should 

be undertaken.          

(Total 20 Marks) 
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Question No. 04 

 

a. Established budget committee of an organization ensures the budgeting process is 

implemented smoothly. Briefly explain four functions of a budget committee. 

 

(04 Marks) 

 

b. Briefly explain five criticisms against Traditional Budgeting.   

(10 Marks) 

 

c. Write short notes on the following. 

- Zero based budget 

- Rolling budget 

- Beyond budgeting      

(02 Marks x 3 = 06 Marks) 

(Total 20 Marks) 

 

 

 

Question No. 05 

 

Following information is available for the PC House Ltd for the six months from January to 

June.  

Month Sales 

Rs. 

Materials 

cost 

Rs. 

Labour 

cost 

Rs. 

Selling and 

Distribution 

cost 

Rs. 

Production 

cost 

Rs. 

Administration 

cost 

Rs. 

January 72,000 25,000 10,000 4,000 6,000 1,500 

February 97,000 31,000 12,100 5,000 6,300 1,700 

March 86,000 25,500 10,600 5,500 6,000 2,000 

April 88,600 30,600 25,000 6,700 6,500 2,200 

May 102,500 37,000 22,000 8,500 8,000 2,500 

June 108,700 38,800 23,000 9,000 8,200 2,500 
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Additional information: 

 

1. Assume the cash balance as at 01st January is Rs. 72,500 

2. 50% of the sales are on cash basis and balance on the credit basis. 

3. Acquisition of fixed assets will be as follows: 

- Rs.8, 000 in the month of February 

- Rs. 25,000 in the month of April 

4. An application has made to the bank for the grant of a loan of Rs. 30,000 and it is hoped 

that it will be received in the month of May. 

5. It is anticipated that a dividend of Rs. 35,000 will be paid in June. 

6. Debtors make the payment as follows 

- 25% of the debtors will be settled in the month following the sale 

- 20% will be settled in the month following the 1st credit payment  

7. Sales commission is paid at the rate of 3% on sales. 

8. One month credit period has been negotiated with creditors. 

 

Required:  

Prepare a cash budget for the months from January to June in columnar form. 

(Total 20 Marks) 

 

 

Question No. 06 

 

S & U Ltd manufactures Product Widget and operates a standard costing system. Analysis of 

variances is made every month. The standard cost card for the product, a widget, is as follows. 

 

Standard cost card – widget 

               Rs. 

Direct materials    0.5 kilos at Rs.40 per kilo           20 

Direct wages   2 hours at Rs.200 per hour         400 

Variable overheads  2 hours at Rs.75 per hour         150 

Fixed overhead  2 hours at Rs.100 per hour         200 

Standard cost               770. 

Standard profit               200. 

Standing selling price         970.00 
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Additional information: 

 

1. Budgeted output for January was 5,100 units.  

2. Actual results for January were as follows.  

- Production of 4,850 units was sold for Rs. 4,850,000  

- Materials consumed in production amounted to 2,300 kilos at a total cost of Rs.94, 300  

- Labour hours paid for amounted to 9,000 hours at a cost of Rs. 2,250,000  

- Actual operating hours amounted to 8,000 hours (applicable to variable and fixed 

overhead) 

- Variable overheads amounted to Rs. 640,000 

- Fixed overheads amounted to Rs.1, 000,000 

 

Required:  

i. Calculate the following variances: 

- Sales price variance 

- Sales volume variance 

- Material price variance 

- Material usage variance 

- Labour rate variance 

- Labour efficiency variance 

- Fixed overhead expenditure variance 

         (07 Marks) 

ii. Prepare a proforma operating statement under absorption costing to reconcile budgeted 

profit with actual profit for the period using the variances calculated above. 

         (13 Marks) 

(Total 20 Marks) 
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FORMULAE SHEET 

SALES VARIANCE 

 

 

 

 

 

 

 

 

 

MATERIAL VARIANCE 

 

LABOUR VARIANCE 
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FIXED OVERHEAD VARIANCE 

 

 

 

 

 

 

 

 

 

 

 

 

  VARIABLE OVERHEAD VARIANCE 
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